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parties to achieve your political and policy goals. As this example illustrates, not only do 
disproportional electoral systems mean that small parties will receive a lower percentage of 
the vote because they are less likely to attract high-quality candidates and other resources, 
but they also mean that these small parties are less likely to exist in the first place.

The dilemma confronting political elites in an SMDP system can be demonstrated in 
another way with the help of the following Strategic Entry Game. Suppose that there are two 
left-wing parties (L1 and L2) and one right-wing party (R). Let’s assume that if both left-wing 
parties compete in the election, then the right-wing party will win for sure, because the vote 
of the left-wing electorate will be split between two “small” parties. Let’s also assume that the 
right-wing party will be defeated if only one left-wing party runs. Because each left-wing 
party prefers that the right-wing party be defeated for ideological reasons, its worst possible 
outcome occurs if both left-wing parties run. Note, though, that if only one of the left-wing 
parties is going to run, then each left-wing party would prefer that its own party be it. This 
is because not only would an electoral victory allow it to implement left-wing policies, but it 
would also allow the party to consume the benefits that come with holding office. Without 
any loss of generality, we can assign to each party a value of 0 for its worst outcome (both 
left-wing parties run and the right-wing party wins) and a value of 1 to its most preferred 
outcome (the other left-wing party drops out and it, the remaining one, wins). We can use a 
parameter λ (lambda) to represent the value that each left-wing party places on seeing its 
fellow left-wing party run instead of it. Because having the other left-wing party win is better 
than having the right-wing party win but not as good as winning itself, it follows that 0 < λ 
< 1. Ultimately, the two left-wing parties must decide whether to run or not run. The normal 
form of this Strategic Entry Game is shown in Figure 14.5.

Notice that the two left-wing parties face a coordination dilemma. They share a common 
goal—defeat the right-wing party. They differ, however, on how that goal should be met—each 
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